COVER SHEET

						Α	S	0	9 5	5 0	0 (2	2	8
					SEC	Regis	trati	on l	Num	nber	-			
D M C I H C	OLDING	S , I	NC											
							-	1			1			
								1			1			L
		Company's	Eull No.											
	((company s	Full INd	me)										
3 R D F L R	R . D A C O	N B	L D	G.		2 2	8	1						
P A S O N G	ΤΑΜΟ	EXT	. M	AK	А	ΤI		С	I	Т	Y			Γ
							1	1	[1		1		Γ
	(Business Address	s: No., Stre	eet City	/ Tow	n / P	rovine	ce)	1					<u> </u>	L
	-		, 		•		-							
HERBERT M. CONS Contact Persor				6		888 19 Te	38-3			imh	or			
				CU	inpa	iy ie	lehi	ione		unio	CI			
											(3 ^{ro}	ⁱ Tu	iesd	ay
	SEC	Farm 17	<u> </u>				Г	0		٦			0	
1 2 3 1 Month Day		Form 17- 1 TYPE	·L				L	0 Mo	5 5			L 8 Day	8	
Fiscal Year							Annu					Duy		
	Г	N.A	٩.											
	Secondar	y License T		Applic	able									
		Г										-		
C F D Dept Requiring this Doc			Amende	d Arti	rles I	Jumh	er /	Sec	tior	<u> </u>				
cpe requiring this boe		,								•				
	7		Total A	<u>Amoun</u>	tor	sorro	wing	js				٦		
otal No. of Stockholders		Dome	estic				For	eign	ı					
	To be accomplis	shed hv SI	FC Dara	onne		Corn	പ							
		Sheu by St				Cerri	cu							
						_								
ile Number			LCU											
	T T T													
ocument ID		(Cashier											
Document ID	<u> </u>	(Cashier											
Document ID		(Cashier			_								
STAMPS		(Cashier			_								
		(s: Please us				_								

SECURITIES AND EXCHANGE COMMISSION

SEC FORM 17-C

CURRENT REPORT UNDER SECTION 17 OF THE SECURITIES REGULATION CODE AND SRC RULE 17.2(c) THEREUNDER

1. <u>May 17, 2023</u>

	Date of Report (Date of earliest event reported)
2.	SEC Identification Number <u>AS095-002283</u> 3. BIR Tax Identification No. <u>004-703-376</u>
4.	<u>DMCI Holdings, Inc.</u> Exact name of issuer as specified in its charter
5.	Philippines6.Province, country or other jurisdiction of incorporationIndustry Classification Code:
7.	3/F Dacon Building, 2281 Chino Roces Avenue, Makati City1231Address of principal officePostal Code
8.	<u>(632) 8888-3000</u> Issuer's telephone number, including area code
9.	<u>Not applicable</u> Former name or former address, if changed since last report

10. Securities registered pursuant to Sections 8 and 12 of the SRC or Sections 4 and 8 of the RSA

Title of Each Class	No. of Shares Outstanding	<u>Amount</u>				
Common Shares	13,277,470,000	Php13,277,470,000.00				
Preferred Shares	960	960.00				
TOTAL	13,277,470,960	Php13,277,470,960.00				

11. Indicate the item numbers reported herein: Item 9

Item 9. Other Events

In compliance with the Revised Disclosure Rules of the Philippine Stock Exchange (PSE), we hereby report the following DMC shares bought/sold by DFC Holdings, Inc., a substantial shareholder of the Corporation:

Transaction Type	Date	No. of Shares	Price (Php)	Amount (Php)
Bought (direct)	May 12, 2023	400	9.50	3,800.00
Bought (direct)	May 12, 2023	500	9.55	4,775.00
Bought (direct)	May 12, 2023	700	9.51	6,657.00
Bought (direct)	May 12, 2023	2,000	9.52	19,040.00
Bought (direct)	May 12, 2023	46,200	9.56	441,672.00
Bought (direct)	May 12, 2023	55,600	9.62	534,872.00
Bought (direct)	May 12, 2023	58,200	9.65	561,630.00
Bought (direct)	May 12, 2023	71,000	9.57	679,470.00
Bought (direct)	May 12, 2023	110,900	9.61	1,065,749.00
Bought (direct)	May 12, 2023	136,100	9.58	1,303,838.00
Bought (direct)	May 12, 2023	289,300	9.59	2,774,387.00
Bought (direct)	May 12, 2023	425,400	9.60	4,083,840.00
Sub-total		1,196,300		11,479,730.00
Bought (direct)	May 15, 2023	3,100	9.61	29,791.00
Bought (direct)	May 15, 2023	3,100	9.69	30,039.00
Bought (direct)	May 15, 2023	6,000	9.62	57,720.00
Bought (direct)	May 15, 2023	6,100	9.68	59,048.00
Bought (direct)	May 15, 2023	9,200	9.66	88,872.00
Bought (direct)	May 15, 2023	9,200	9.67	88,964.00
Bought (direct)	May 15, 2023	21,800	9.65	210,370.00
Bought (direct)	May 15, 2023	33,100	9.60	317,760.00
Bought (direct)	May 15, 2023	44,800	9.63	431,424.00
Bought (direct)	May 15, 2023	63,600	9.64	613,104.00
Sub-total		200,000		1,927,092.00
Bought (direct)	May 16, 2023	3,500	9.69	33,915.00
Bought (direct)	May 16, 2023	10,800	9.71	104,868.00
Bought (direct)	May 16, 2023	14,600	9.72	141,912.00
Bought (direct)	May 16, 2023	20,000	9.68	193,600.00
Bought (direct)	May 16, 2023	25,400	9.70	246,380.00
Bought (direct)	May 16, 2023	25,400	9.74	247,396.00
Bought (direct)	May 16, 2023	29,200	9.76	284,992.00
Bought (direct)	May 16, 2023	43,800	9.77	427,926.00
Bought (direct)	May 16, 2023	51,000	9.79	499,290.00
Bought (direct)	May 16, 2023	51,100	9.75	498,225.00
Bought (direct)	May 16, 2023	71,900	9.78	703,182.00
Bought (direct)	May 16, 2023	76,600	9.80	750,680.00
Bought (direct)	May 16, 2023	173,700	9.67	1,679,679.00
Bought (direct)	May 16, 2023	290,000	9.66	2,801,400.00
Bought (direct)	May 16, 2023	731,100	9.73	7,113,603.00
Sub-total		1,618,100		15,727,048.00
Total		3,014,400		29,133,870.00

SIGNATURES

Pursuant to the requirements of the Securities Regulation Code, the issuer has duly caused this report to be signed on its behalf by the undersigned hereunto duly authorized.

DMCI Holdings, Inc. Issuer

5-

Herbert M. Consunji Executive Vice President & Chief Finance Officer

May 17, 2023